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Name: __________________________________
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Which graph does not represent a function?
	1)
	[image: image1.png]



	3)
	[image: image2.png]




	2)
	[image: image3.png]



	4)
	[image: image4.png]
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Which graph does not represent a function?
	1)
	[image: image5.png]



	3)
	[image: image6.png]




	2)
	[image: image7.png]



	4)
	[image: image8.png]
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Which graph represents a relation that is not a function?
	1)
	[image: image9.png]



	3)
	[image: image10.png]




	2)
	[image: image11.png]



	4)
	[image: image12.png]
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Which graph represents a function?
	1)
	[image: image13.png]



	3)
	[image: image14.png]




	2)
	[image: image15.png]



	4)
	[image: image16.png]
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Which graph represents a function?
	1)
	[image: image17.png]



	3)
	[image: image18.png]




	2)
	[image: image19.png]



	4)
	[image: image20.png]
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Which graph represents a function?
	1)
	[image: image21.png]



	3)
	[image: image22.png]




	2)
	[image: image23.png]



	4)
	[image: image24.png]
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Which graph represents a function?
	1)
	[image: image25.png]>x





	3)
	[image: image26.png]>x






	2)
	[image: image27.png]



	4)
	[image: image28.png]>x
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Which graph does not represent a function?
	1)
	[image: image29.png]



	3)
	[image: image30.png]




	2)
	[image: image31.png]



	4)
	[image: image32.png]
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Which graph represents a function?
	1)
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	3)
	[image: image34.png]
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	4)
	[image: image36.png]
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Which graph represents a function?
	1)
	[image: image37.png]



	3)
	[image: image38.png]




	2)
	[image: image39.png]



	4)
	[image: image40.png]
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Which graph does not represent the graph of a function?
	1)
	[image: image41.png]



	3)
	[image: image42.png]




	2)
	[image: image43.png]



	4)
	[image: image44.png]
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Which statement is true about the graphs of f and g shown below?
[image: image45.png]



	1)
	f is a relation and g is a function.
	3)
	Both f and g are functions.

	2)
	f is a function and g is a relation.
	4)
	Neither f nor g is a function.



13
Which statement is true about the relation shown on the graph below?
[image: image46.png]



	1)
	It is a function because there exists one x-coordinate for each y-coordinate.
	3)
	It is not a function because there are multiple y-values for a given x-value.

	2)
	It is a function because there exists one y-coordinate for each x-coordinate.
	4)
	It is not a function because there are multiple x-values for a given y-value.
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Which set of ordered pairs represents a function?
	1)
	[image: image47.png]



	3)
	[image: image48.png]




	2)
	[image: image49.png]



	4)
	[image: image50.png]
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Which relation is not a function?
	1)
	[image: image51.png]



	3)
	[image: image52.png]




	2)
	[image: image53.png]



	4)
	[image: image54.png]






16
Which relation represents a function?
	1)
	[image: image55.png]



	3)
	[image: image56.png]




	2)
	[image: image57.png]



	4)
	[image: image58.png]
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Which relation is not a function?
	1)
	[image: image59.png]



	3)
	[image: image60.png]




	2)
	[image: image61.png]



	4)
	[image: image62.png]
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Which relation is a function?
	1)
	[image: image63.png]



	3)
	[image: image64.png]




	2)
	[image: image65.png]



	4)
	[image: image66.png]






19
Which set is a function?
	1)
	[image: image67.png]



	3)
	[image: image68.png]




	2)
	[image: image69.png]



	4)
	[image: image70.png]
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Which set of points does not represent a function?
	1)
	[image: image71.png]



	3)
	[image: image72.png]{(2,-2),(1,4),(2,5), (3,6)}





	2)
	[image: image73.png]



	4)
	[image: image74.png]
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Which relation is a function?
	1)
	[image: image75.png][[3o}on3.)]




	3)
	[image: image76.png]




	2)
	[image: image77.png][0 -4.1) o)




	4)
	[image: image78.png]
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Given the relation [image: image79.png]


, which value of k will result in the relation not being a function?
	1)
	1
	3)
	3

	2)
	2
	4)
	4
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Which relation does not represent a function?
	1)
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	2)
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	4)
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1
ANS:
4
REF:
fall0908a2

2
ANS:
4
REF:
011101a2

3
ANS:
3
REF:
061114a2

4
ANS:
1
REF:
061409a2

5
ANS:
4
REF:
fall0730ia

6
ANS:
4
REF:
010930ia

7
ANS:
4
REF:
061013ia

8
ANS:
3
REF:
011204ia

9
ANS:
1
REF:
061209ia

10
ANS:
3
REF:
011309ia

11
ANS:
3
REF:
081308ia

12
ANS:
2
REF:
011507a2

13
ANS:
3
REF:
060919ia

14
ANS:
2
In (2), each element in the domain corresponds to a unique element in the range.
REF:
061116ia

15
ANS:
3
An element of the domain, 1, is paired with two different elements of the range, 3 and 7.
REF:
080919ia

16
ANS:
4
In (4), each element in the domain corresponds to a unique element in the range.
REF:
011018ia

17
ANS:
4
An element of the domain, 1, is paired with two different elements of the range, 1 and [image: image84.png]


.
REF:
011405ia

18
ANS:
1
REF:
061413ia

19
ANS:
2
REF:
011514ia

20
ANS:
3
REF:
061612ia

21
ANS:
4
In (4), each element in the domain corresponds to a unique element in the range.
REF:
011105ia

22
ANS:
3
REF:
011305a2

23
ANS:
3
REF:
011604a2
